Efficiency vs dr

0.2

°

o

>
T

©
¢ o
N
TTT]TTT]

_CMSSW_X_Y_Z__allNODNNZ
|

2 it
@© —— DQM_V0001_R000000001 Global
o —_— D M~V0001_R000000001__Global__

1078 1072 107t

0.95
1
TP min AR

[ Efficiency vs dr (track,jet) |

§ 0.1

0 0.09

=

o

z 0.08

£20.07

>

20.06

@

o

£ 0.05]

3]
0.04
0.03
0.02

0.0

[y

107 1072 107t
AR(TP, jet)

...............................................

...............................................

iy
TTTT T T
A
r
2,
r

(=]
W)
=]
N
s]
o -
o)}
o
~
o

80
Pileup



	Contents
	Page 1


